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#1. Consider a small closed economy in which the following hold true (20 points)

(1) Y=2VL ashortrun aggregate production function

(2) wo=2 the nominal or money wage paid to labor

(3) MV, =PY the equation of exchange with 1, =8and M =2
(4) € =140.5Y areal consumption function
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(5) I,=2-0.5R areal planned investment function with R = interest rate

(Note: No government spending, taxes, and no exports or imports)

Calculate each of the following exactly---

(a) The demand for labor assuming labor is paid its marginal
product. '

(b) The short run aggregate supply function.
(c) The aggregate demand function.
(d) The equilibrium values of Y and P.

(e) The equilibrium values of R, C, and Ip.
#2. Many economists say that a falling nominal or money wage rate can (20 points)
increase employment during periods of recession.

(a) Explain clearly how the interest rate is affected by a fall
in the money wage. Use IS-LM and AS-AD to explain your answer.

(b) Under what conditions will a fall in the money wage NOT

reduce unemployment. Use IS-LM and AS-AD to explain your answer.

#3. Explain all the different costs of both expected and unexpected (15 points)
inflation.
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Explain each term below (15 points)

The current account of the balance of payments ([ BRI AT ST L HTR)
Okun's Law (B85 E£E)

The Lucas supply function (B4 E)

The natural rate of unemployment (E A% 5R)

Total factor productivity (2 EZEEX)

a0 g

What policies can be used to deal wit‘ﬁ arecession? Why doesthe (15 points)
US economy still have high unemployment years after the recession?

Under fixed exchange rates, monetary policy is not effective. (15 points)
Explain clearly and completely. '



